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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and
affix Signature on the OMR sheet. As the answer sheets are designed to suit the
Optical Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part - A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded. t

6. Questions are in both English and Kannada. If any confusion arises in the Kannad‘a
version, please refer to the English version of the questions. %t

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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Choose the best option. Each question carries 1 mark. (40x1=40)

SAZRTE ITBD) 503, IR, B3 FI7 twomd 508,

1. Expand IRS.
a) Indian Remote Satellite b) Indian Remote Sensing Satellite
c¢) Indian Resource Satellite d) International Remote Satellite
IRS 53553 éi)n)ﬁn}
a) QORI OBREEF B ARG b) aoRoH® dRreeex & AN AR 8383
C) QD" ORREAF &, mfésf d) BT RS DRt o) &\,dw
2. The 1% Indian satellite launched by the Soviet Union on 19* April 1975 is
a) Rohini b) Apollo c) Chandrayan d) Aryabhatta
19 22 19753¢) UaR,008 SVERBRROE TP LPUS0DH WBRHES B
a) dre&esd b) esZpecine C) 2308300003 d) esodredes
3. Who is regarded as father of Genetics ?
a) Bateson b) Hugo De Veries c¢) Darwin d) Gregor Mendel
39208, (Genetics )T w38 ot O30, 830d0ET ?
a) 3T R b) Bpnee B Boex ) B d) Rgno® Boowder
4. The chromosomes present in the male are
a) XX b) YY c) XY d)XO
RORIG, ForreBdss BearBo8ons B cIRJd 9
a) XX b) YY Q) XY d)XO
5. One nano meter is
a) 10°m b) 10°%m c) 10°m d)10° m
200D FFRE 0EEIT° (nano meter) 203 R, BYZ 9 N
a) 10°m b) 10°m c) 10°m d)10°m
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6. The word “Science” is derived from
a) Greek b) French c) Latin d) Sanskrit
» “NRF” TR 03733 ZPTO0T )BIOTRNT ?
a) nes b) Fows* C) TR d) ﬁo#é)é
7. The study of plants and animals is called
a) Botony and Zoology b) Plant Science and Animal Science
¢) Living things Science d) Life Science
AR 0B T, EINY wcﬁzsabaidaig{ RRRIS aazo;d TR
! a) RYTOR, TR T FSTOR, b) R, eRF W LI Y 0
C) e NNF d) 2263 R
8. Who is called as father of modern Astronomy ?
a) Aryabhatta b) Nicolaus Copernicus
c) Aristotle d) Galileo
SO DiRedIR QTRIH 03N ?
a) S0 b) VWBREVT® BRETT* VTR
C) Lomue’ d) fOSdee

9. “Renaissance” actually means

a) Modern b) Rebirth c) Return d) To change

“e@ddoa%d"d QBT LIBF

a) &SROV b) D c) PIonws  d) WRRES
10. The Industrial revolution began in

a) England b) USA

c) Germany d) None of the above

§r70050 53,0803 T Beg £

a) Qoriocs’ b) od0.%°..

C) TR d) ST IRPTE L.
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11. Who is considered as father of Nanotechnology ?

a) Richard Feynman b) Richard Watson
c) Norio Taniguchi d) James Crick
‘TERe 303mMP' T %38 0T OIRT), B30T ?
a) ouEF PRI b) OwdTeF RN
c) Srdodre 3ANW d) e 35
12. The part of Indian population that depends directly on agriculture is
a) Two-third b) One-fourth c) Half d) Three-fourth
RT3BY, Fodd B¢ eROORBTHNTIR wIR03,030 0TS
a) 2/3 b) 1/4 c) 1/2 d) 3/4

13. Father of green revolution in India is

a) N. R. Vishwanathan b) M. S. Swaminathan
c) Norman Borlaug d) M. S. Ramanathan
270033, BAT 3,080 %33 0303 ?
a) OF. 807, BT b) QR IR, FEVTT
C) TOFI°® WReTF TV d) QR 7. ORIDFS’
14. Which of the following is largest producer of milk in India ?
a) Guijarat b) Maharashtra c) Andhra Pradesh d) Uttar Pradesh
203RE), B3 Doty B8P TTHODNY B D) m@dd@md
a) MBS b) SHTTHF, c) B0 BB d) ev33 B3
15. What does GMO stands for ?
a) Genetically Modified Organism b) Grand Money Order
c) Genetically Motivation Organism d) General Modified Order
‘GMO’S Q58 oRR
a) 2O BReRJ* SRR b) e, ;0 RV ST =
c) 222eBO VLRI’ SRFRROo d) ®RIT® BReRFT Eiriaen
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18.

19.

20.
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16. In an experiment, the one variable that is changed is called

a) Experimental variable b) Controlled variable

¢) Independent variable d) Uncontrolled variable

%ot Todpensd), WEBHERRS BB, (variable) OSowd lelevebented)
a) @ odeens w%da’ b) dodegs es%dé’

C) RBo33 w%dé’ d) edcDed3 e:a%da"

In Science, an educated guess is galled a/an

a) Question b) Conclusion ¢) Hypothesis  d) Observation
DR JEE. '3 S (educated guess) e:sa.{gL QI 3BT 9

a) T b) &eSnrs C) WOz d) Qegss
Sushruta is commonly known as father of Indian

a) Ayurveda b) Medicine ) Surgery d) None of the above
#Jé_a)éda{g{ ADBRFEON E0SeRd S %IT 0T rotheRz3,

a) sodvBers b) %cgaa:gy C) 3383 d) 0ed3 adnF@e e
Laser is used in the commercial products like

a) Barcode scanners b) CD and DVD’s

c) Laser printers d) All the above

deﬁc‘eﬁg{ TSNS o3 oedey m%%d@m WIDR3 9

a) wodners® A, JO° b) A& =) ana

c) Sexo® 0BT d) Boed3 2e)p

Expand SAM.

a) Scanning Microscope b) Sound Amplifying Machine

c) Scanning Acoustic Microscope d) None of the above
SAMe) 5o
a) &, dore ﬁ%i@ﬁ%@@" b) ZPow® 5,08 00N* S

C) &, or’ OTORE dgﬁgﬁgeaf d) S0 cIne Q.
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21. Who discovered the first antibiotic ?

22.

23.

24.

25.

a) Alexander Fleming b) Rudolf

c) Louis Pasteur d) Sebastian
BERETINTI), 30BGART BRBO [ o8RO ?

a) ©SReE0" FLoon b) domeer,
C) LROWT TWIO® d) BemRcds®

-

The term detergent is derived from Latin word “detergere” meaning
a) To clean b) To wash c) Dirty d) None of the above

Detergent (=573 DOOT TR LR “detergere” TROOT oD, VIS
eI BWEROTT

a) ?’&&gﬂm@“’a@ b) de¥cdnPD  C) BePD d) SO cIRFRP )
The term polymer is derived from

a) Greek b) Latin c) French d) English

Polymer (m@abo‘) ai‘dda’.g{ 03793 g wcédam%mﬁd’ 9

a) nes’ b) s’ c) Pou® d) ongw

Nuclear reactors usually employ

a) Fusion b) Fission c¢) Diffusion d) Both a) and b)
20RIED aaﬁaéyd@m LPROEES 803D BRD

a) RS b) OEds C) BRTE? d) a) B3y b) 28@E»
Graphite is used in nuclear plant as a/an

a) Fuel b) Electrode c) Moderator d) Coolant
OB PEIBNTE IR ‘TRF 'S T0T,

a) 1P b) O, C) In@EBeei® d) de2d
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26. A wind turbine converts kinetic energy from the wind to
energy.
a) Solar energy b) Hydro energy
c) Electrical energy d) Mechanical energy
P 03003) BOBEOIR, PONOT IR B7 LHBSOWRZTS ?
a) x0T b) =3
C) AT} d) cSRodE 33
27 Who announced the introduction of National Food Security Act ?
a) Pranab Mukherjee b) Manmohan Singh
c¢) P. Chidambaram d) Arun Jaitley
T0y,008 590 R0 F03H0D CRSCORRS) DREQATIRTD
a) Teorr® W0 GE) POTRRED’ AOTY
C) &. WBTWoWTo d) edom* 2eed
28. In India National Science Day is celebrated on
a) 28" Feb. of every year b) 29" Feb. of leap year
c) 28" Jan. of every year d) 29" Jan. of every year
P03TE, Tody 0D NNF OTHI), 0T 5230RDNIZES ?
a) B Swr FeyH028 b) 08 IR FwF029
C) B VR WSR0 28 d) = DwF wSx0 29
29. Headquarters of ISRO is located in
a) Bengaluru b) Bhuvaneswar c) Cuttack d) Chennai
ISROS Tos 3630030 9T ?
a) Wondedd b) #bae3,0 C) B&3® d) 233,
30. Who is the present Chairman of ISRO ?
a) S. Somanath b) A. S. Kiran Kumar
c) K. Sivan d) K. Radhakrishnan
ISROS &30S e:sq%id: evipionh);
a) OF°. BREDOIOF® b) . A°. $TE° B[P0
c) 3. ¥3%° d) 8. CoTPTHY

SPACE FOR ROUGH WORK




1.

32.

" 33.

34.
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The Department of Science and Technology (DST) was established in
India by

a) May 1971 b) June 1971 ¢) May 1981 d) June 1981
AT~) _§ B3 303239 _; amsﬁodoabi mdéd@mmm&hd SR
a) e 1971 b) mes® 1971 c) a3 1981 d) e 1981

Who is called as Missile Man of India ?

a) H. J. Bhabha b) Vikram Sarabhai
c) A. P. J. Abdul Kalam d) Sathyendra Basu
3363 =3 DHOT ﬁd@gdodsﬂd: o3RI ?

a) . 2. ¢L b) QBRI FTHLIIOW
C) @ &. 23. RN BLRO d) ﬁ%eoz; 2R

“Origin of Species” was written by

a) Oparin b) Lamarck c) Darwin d) Wallace
“Origin of Species” (zseas ONEOR) DRSS 203333 03330 ?
a) Lo b) CRRREF C) TR d) oA’

The theory of “ Use and Disuse” was given by

a) Stebbins b) Lamarck c) Aristotle d) Darwin
‘euoden =08 ROBO3REN &m@oézﬁ 3SF
a) RS, b) ComREF C) ©0mBS d) @S

The term “Antibiotic” means

a) Against life b) Antibody
¢) Both a) and b) d) Antivirus
sgéz.’,ezﬁﬁﬁfé (Antibiotic) S ReS0TT

a) 2333 &)d:d@ b) ®&so0D
c) a) o3 b) DOBR d) 650&3%13;1‘

SPACE FOR ROUGH WORK
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36.

37.

38.

39.

40.

The most widely used web protocol is

a) http:/ b) URL c) HTML d) All the above
€8 o'ﬁzi:gd wﬁo&mﬁ#eg)c@ad @oBF© §¢d) (Web Portal) otne)ah 9

a) http:/ b) URL c) HTML d) SoedS aege
Expand WWW,

a) Web World Wide b) World Wide Website

¢) World Wide Web d) World Whole Web

WWw’ 3 WokcReloby

a) Jwe DS ey : b) mere ey SR

C) ICF FE* e d) SF Reeer P

The gas responsible for Global warming is

a) Nitrogen b) Carbon dioxide

c¢) Noble gases d) Oxygen

2T BHBRS DOF 1 590N e

a) FTLIB b) wowes @ 8 o

C) Spewe® e2Qo d) smss

Which of the following is a non-renewable energy resource ?

a) Solar b) Coal c) Wind d) Methane
ﬁaeﬁdmﬁm%d B8 e 8 FENSINS) o3y 9

a) X°0gs b) sdz3en C) MY d) Qozdex
Internet works on

a) Packet switching b) Circuit switching

c) Both a) and b) d) None of the above
e3032F© FOR BRI XT3 Foees 9

a) W der R wor b) RERFis R, 20

C) a) &3y b) J&ER d) 0edI BnPze e
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Choose the best option. Each carries 2 marks. (2x15=30)

523R0mT YUFCR), $O3) BRA. B3 IR 2 eosrish.

| 41. Expand LASER.
| a) Light Amplification by Stimulated Emission of Radiation
b) Light Amplified System of Emission of Radiation
¢) Light Accumulation System of Emission of Radiation
d) Light and Source Emitted Radiation
LASER e Q50
a) G GoqyBens’ v A0S DO0TR® & BerodeR®
b) &E3° EoRF T %o ST VTS S JeRo3eRS
C) g RN AR & QT 37° BeRoDEH®
d) S &500 RRER'F AL SRR

42. A Solar cell converts
a) Heat energy into electrical energy
b) Heat energy into light energy
c) Solar energy into electrical energy
d) Solar energy into light energy

FRTEREDR) DI, BRI 7

a) TII, AFZN BORSFRIT

b) 0208, 30N TORSFRIZT

€) FPTBY0IR) HRTIN BOWSFROIT
d) FP0ZE00a) t3vEN BOBSF AT

SPACE FOR ROUGH WORK
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44,

45.

46.
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The process of evolution

a) Is a discontinuous process

b) Is continuous and gradual process

c) Was continues in the beginning, but discontinues now
d) Was discontinues in beginning, but continues now

236N VTR

a) 2.0 ANSTONT/ QUBONTIES 8030

b) RC03T = =03 E)tpwriéoda 3030

¢) DTN : Gaplelelavoly! 50 2 SN
d) DuFoNn woBogimen vden /T dmﬁci’

Expand CNG.

a) Compressed Natural Gas b) Common Natural Gas
c) Compressed Nuclear Gas d) Compressed Neutral Gas
CNG fﬁ:'\b &)NON

a) soeﬁxfw DT MR b) FO maﬁadv ok
c) ﬁo@_\ﬁ‘w‘ 3.@:34:::}00e n‘o» d) BoBR" SR mr\}
Principle of Laser is

a) Spontaneous absorption b) Stimulated emission
c) Induced emission d) Induced absorption
Laser S Q& B803 23,

a) M N3 EReLioks) éaﬁ b) @edred3 BroRRRINE
c) 3@03 BRORRRODS d) Fe08 eoBR0E
GIS stands for

a) Global Information System b) Geospatial Informative System

c) Geographical Information System d) Geological Information System
GIST O% 3 dewm

a) RREST A T RICRT RO b) 2ecdpeBaoder AT REy 23

c) zﬂeo&aem DTS’ B TROT IR’ xRo  d) zseodmec:aaaﬁef B OO BRI s)fuo
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47. The study and application of extremely small-things conducted at the nano

48.

49.

scale is called

a) Smart nanotechnology b) Nano technology

c) Nano materials d) Robot technology

98 :ﬂrge ﬁ*’ﬂo_nﬁ#dgt SRR S rcfove! dséﬁd@m AL BTN e:ac;’;sqiaﬁ Y esajscmﬁa"ﬁﬁe?q
aaﬂdaa’&g{ A cavE Jelovebrle R4

a) T R b) mBee BRI
c) mBee [WND d) Srwieees 308
Operation flood was started by in India, 1970.

a) National Dairy Development Board

b) Indian Dairy Development Board

¢) International Dairy Development Board
d) NABARD

RT3BY, §¢0 59,0805, 197009, TBFS BRRB RoZ
a) JemSe B0 BSOT R0 WRer'F

b) @o@0* za;’p BROT 0T WReTE s

C) QoBT°IRIS* B0 BeSwm 08’ WReE"F

d) Sww's

The actual physical network made up of wires, cables, and satellites that
connects computers and resources throughout the world is the

a) Web b) Internet

c) E-commerce d) Spiders

Bo8nieh, $e0e Y R GUBRBY 37088 $ONT WRBFHRPORTS NEE FOTY 0T
T3 FoTIR OB, PSord TBCIVBT ?

a) O b) e03re

C) B~ d) 2¥e@nsd
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50.

In the study of science

a) Deductive reasoning may be used ; but inductive reasoning is preferred.

b) Inductive reasoning may be used ; but deductive reasoning is preferred.

c) Only inductive reasoning is used.

d) Either deductive reasoning, inductive reasoning or both may be used.

NRF BT OHIBY,

a) SBWRTVYE BoFFTIODR WIRWIR; ST IRONRITT B3B3 ST
QBRI

b) &RONTT T8 TS0, WHRWEIORY; BT ORDBRTOIE T3 TSN T3
QeBRMZT, ‘

C) &RONROTE TF TS, TR WIBWBIT.

d) woBdpe ROBRTZE B RN oI TS L DTWY WERLBOT.

51. Which of the following is a proof of the earth’s revolution around the sun ?

52.

a) Rising and setting of the sun

b) Season

c) Parallax of stars

d) All the above

EAOIALIov oY) mqss R0Z B0L,=oed mm@@ 33 39N m@cﬁa“g‘ ) 0TI O3RN
VBB ?

a) RRTRTOD T IR

b) 233oned

c) =g3ne o3

d) S¢S QP

Scientific method involves

a) Formulation of hypothesis b) Testing of hypothesis
c¢) Analysing data and drawing conclusion  d) All the above

R RT DO B3 TINT CARRTI), 2.91RP0RT ?

a) NREOD TR EFOED b) eveEod ToeE,

€) B2 0 DFETES P VeoF oD d) S0edS 20T
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53.

54.

55.

An advantage of detergents over soaps is

a) Detergents always contains anionic heads
b) Detergents are cheaper to make

c) Detergents are biodegradable

d) Detergents are non-biodegradable

BRERFICOTE FeAN0T BBRWET 2030533

a) [nREFENYY cdnmnew aEgs ST (anionic head) QIS
b) Snwrand eveensodn wrﬁ\daca

C) SRWFBNWD 28 P Do

d) Snzesnsd BT IP BRI,

The first nuclear power plant in India is

a) Kudankulam Nuclear Power Plant  b) Tarapur Atomic Power Plant

c¢) Kaiga Nuclear Power Plant d) Madras Atomic Power Plant
LPUBRE SRV W3RIED Slevipl-joy @wéﬁa’% NI] m@&ﬁmma’a ?

a) BRBOBVo ok [{evelogicvniogiantelng b) =20R)0° wsineas® Do aplel iy
C) g BRFeODT TR T d) SToox* eEdnes TS0 TROES

Who is regarded as father of Indian Space Programme ?

a) Vikram Sarabhai b) A. P. J. Abdul Kalam

c) C. V. Raman d) Subramanian Chandrasekhar
%TB3e0D WoTH,TT FHOIF T R oD 030D B30T ?

a) Q70T T b) . &. 2. eeer Fewo

C) 2. . TIRF® d) Rowedey W¥orBeds
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